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Wiiting Story Writing Oral Story Peading Peading Oral Language Worabulary
Understanding Understanding Feadiness Arhisvernent
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Product innovation Technology innovation

engineering and computing engineering and computing
arts sciences and maths
agriculture architecture
architecture agriculture
social sciences arts
total total
education business
sciences and maths health
business education
others social sciences
humanities humanities
health others
law ! ! law
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Education Social Life Economic
Development

Education in the arts/
in culture
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